> UITRADESK'
HIGHLANDER

- SCREW ACCESSORIES

1 S2 s7 S8 S9
m O
N\
6mm x1/ | 3mm x1 x3 x2| | 5mm
S10 S11
A &)
> | B
Uy
x4||M4*14 x36

* PARTS ACCESSORIES

MMMMMM

w

MMMMMM

=

H 2 [[ J Kk
/] T
| ,?1‘, X2 /

M

Y e

MMMMMM




/4 1
y/ H '
y ! '
/) :

/) k
//// d ' :
// | ]

/ ! )
/ : Ll Me2 L : -
4 i i ] -
4 $2 : st s12 : =
< : : = @l
& | ; g DI
WS X2 Smm s ; M4*14 x12 x2|

2.and then tighten the screws.

E o i 1.Please make sure the two boards are T x—r
! \x ; aligned and seamless

, T S11x24

L
b S Y

S3 S5
|
b s
|
i
m8*16 x4 M4*12 x2
s2 s1 E
|

6mm x1

—
[
3
3
x

4

After the table is installed,
please press the key to start

S9 ' During the reset process, the table will automatically

! run down to the lowest position for 5 seconds,

: and then the table will run up to a fixed position to stop.
5mm x1 - successful installation
s15

= A




